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Question 1.

1. Consider the following right triangle.
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Find the value of c and deduce the exact

tan 0.
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2. Letd be in l0, r] such that cos 0 - :. Find the value of sin 0. 1zpt"7
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Question 2.

1. Evaluate each exPression :

(a) cos($)cos(f ) - sin(3)sin({). (2pts)
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(b) sin(fr)cos(f;) - cos($) sin(f )
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2. Deduce from (a) and (b) the exact 
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of cos fi and,sin ft. (2pts)
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Question 3.

1. Solve in complex numbers the equation

,2+4r-t5:0.
Answer:
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2. Write i2oJ4 in the form a+bt.
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3. Wiite -= -.' in the form (r+bi.
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4. Write the complex
r(cos0+isind).
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-1 + e in trigonometric form
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